B decay D decay Ref. Dataset Status since
Ref. [7]

B - Dn* D — hTh™ 7] Run 1&2 As before
B* — Dh* D— htrnta— 7] Run 1 As before
B* - Dn* D — K*rFatn— 7] Run 1&2 New

B* - Dh* D — hth=x° [?] Run 1&2 Updated
B* — Dh* D — KSh*th~ (7] Run 1&2 As before
B* — Dh* D — K{K*r T (7] Run 1&2 As before
B* — D*h* D — hth~ 7] Run 1&2 As before
B* - DK** D — hth™ 7] Run 1&2(*)  As before
B* - DK** D — hta—nta— 7] Run 1&2(*)  As before
B* - Dhtrtn~ D — hTh™ 7] Run 1 As before
BY - DK*° D — hth™ (7] Run 1&2(*)  As before
B® - DK*° D—htnatn~ 7] Run 1&2(*)  As before
B® - DK*° D — Kdrtn~ 7] Run 1 As before
BY — D¥ g Dt - K—rntrt 7] Run 1 As before
BY - DTK* Df = hth 7t 7] Run 1 As before
BY —» DFK*ntn— Df = hth—at 7] Run 1&2 As before
D decay Observable(s) Ref. Dataset Status since

Ref. [7]

DY — hth~ AAcp [7,7,7] Run 1&2 As before
DO = K+K- Acp(KTK-) 2,27 Run?2 New

D% — hth~ yep — vl ™ (7] Run 1 As before
D® — hth- yop — yg};"+ (7] Run 2 New

DO = hth AY 2,2,2,7] Run 1&2  As before
D% - K+7~ (Single Tag) Ri (2! )2, 7] Run 1 As before
D% — K*7~ (Double Tag) + (z i)2 7] Run 1&2(*)  As before
D - K*nFata= (T +y?)/4 7] Run 1 As before
D% — Kirtn— z,y (7] Run 1 As before
D — Kdrtn— zeop, yop, Az, Ay [?] Run 1 As before
D — Kdntn— xzep, yer, Az, Ay [?] Run 2 As before
D - Kdrtn~ (u~ tag) xcp, yop, Az, Ay [7] Run 2 New




